? modulos_id BIGINT(20) 1 pruebas_id BIGINT(20) © id BIGINT(20)

? servicios_id BIGINT(20) 1 plan_pruebas_id BIGINT(20) <> nombre VARCHAR(255)
Indexes > url VARCHAR(255)

< activo BIT(1)

! id BIGINT(20) 7 id BIGINT(20) ! id BIGINT(20)

> token VARCHAR(255) > nombre VARCHAR(255) > nombre VARCHAR(255)
< fecha DATE < activo BIT(1) <> descripcion VARCHAR(255)

Indexes

& jh_user_id INT(11) Indexes < activo BIT(1)

Indexes Indexes Indexes

 event_id BIGINT(20) / id BIGINT(20) ' id BIGINT(20) © id BIGINT(20) 7 metodos_id BIGINT(20) © id BIGINT(20)

< principal VARCHAR(50) > body VARCHAR(20000) S — — — < fecha DATE > nombre VARCHAR(255) 1 parametros_id BIGINT(20) > nombre VARCHAR(255)

< event_date TIMESTAMP | 1< <> activo BIT(1) < jh_user_id INT(11) <> activo BIT(1) Indexes <> valor VARCHAR(255)

< event_type VARCHAR(255) <> ambiente_id BIGINT(20) > descripcion VARCHAR(255) Indexes | A < activo BIT(1)

Indexes <> modulo_id BIGINT(20) >|— — — — - < tipo_evento_id BIGINT(20) < tipo_parametro_id BIGINT(20)

< servicio_id BIGINT(20) Indexes Indexes
————————— -+ | © metodo_id BIGINT(20)
< service_provider_id BIGINT20) >Y)— ——— — — — — — — — - — — —

< service_group_id BIGINT(20)

Indexes

m
' name VARCHAR(50) 1 servicios_id BIGINT(20)  id BIGINT(20) 7 id BIGINT(20)

Indexes 7 metodos_id BIGINT(20) > service_provider_id INT(11) > nombre VARCHAR(255)

© id BIGINT(20)
> nombre VARCHAR(255) H
< url VARCHAR(255)
> activo BIT(1)

7 id BIGINT(20)
> nombre VARCHAR(255)

< activo BIT(1)
Indexes Indexes

Indexes

> nombre VARCHAR(255) < activo BIT(1)

<> activo BIT(1) Indexes

Indexes

! id BIGINT(20) 1 event_id BIGINT(20) 1 user_id BIGINT(20) 7 id BIGINT(20) 1 ambientes_id BIGINT(20) ! id BIGINT(20)

< fecha DATE * name VARCHAR(150) 1 authority_name VARCHAR(50) < login VARCHAR(50) 7 modulos_id BIGINT(20) > nombre VARCHAR(255)
< url VARCHAR(255)
< activo BIT(1)

Indexes

Indexes

< url VARCHAR(1023) <> value VARCHAR(255) Indexes < password_hash VARCHAR(60)

< tiempo_respuesta INT(11) Indexes < first_name VARCHAR(50)
< last_name VARCHAR(50)
<> email VARCHAR(100)

< activated BIT(1)

< resultado VARCHAR(10000)
< jh_user_id INT(11) |
< jh_user_name VARCHAR(255) > — .

| |
| |
<> body VARCHAR(10000) 1| < lang_key VARCHAR(5) : :
<> estado VARCHAR(255) < activation_key VARCHAR(20) | |
< activo BIT(1) < reset_key VARCHAR(20) I I
< prueba_id BIGINT(20) < created_by VARCHAR(50) ﬁ
< service_group_id BIGINT(20) 7 id BIGINT(20) / id BIGINT(20) < created_date TIMESTAMP © id BIGINT(20)
< service_provider_id BIGINT(20) > mensaje VARCHAR(255) [——-H <> metodo VARCHAR(255) < reset_date TIMESTAMP < service_group_id INT(11)

S

_ % activo BIT(1) === & activo BIT(1) “last_modified_by VARCHAR(50)  token VARCHAR(255)
< tipo_alerta_id BIGINT(20) Indexes < last_modified_date TIMESTAMP < activo BIT(1)
_ & tipo_header_id BIGINT(20)
< service_provider_id BIGINT(20)

Indexes




